
- BEFORE YOU BEGIN -

- TREATING YOUR Kit -

■■■■■ Staining...
This Kit is constructed of a long-lasting
western cedar, finger jointed lumber
to ensure straightness and durability.
Untreated cedar exposed to sunlight
will eventually weather to a silver-grey
color.  Apply Stain or Sealers per
manufacturers instructions WITHIN 30
DAYS will improve the water resistance
of your Kit. Some sanding to remove
rough edges and natural wood stains
may be required prior to staining.

Always wear OSHA-APPROVED
safety glasses throughout assembly
process

■■■■■ First...
Read these instructions thoroughly before you
begin assembly.  Assembly is easiest if you
follow the steps in the order shown.

#16681

8 sided Gazebo shown (Not Included)

■■■■■ Tools required
❑ #2 Phillips Screwdriver
❑ Step Ladder
❑ Electric Drill w/ #2 Phillips Tip
❑ 5/16” Drill Bit
❑ Hammer
❑ Pencil

New and Revised
Gazebo Screen Kit

1-31-03

■■■■■ Parts List
If a part is missing, circle the part in question in the parts
list and call us toll-free at 1-800-437-0784.

❑ 3/4”x1-1/2”x34-1/4” Sill (see quantity above)
❑ Wall Screens (see quantity above)
❑ 1 Door Screen
❑ 1 Hinge Board 1”x1-1/2”x80”
❑ Hardware Kit - 3 Hinges, 1 Door Handle, 2” Screws,
   1-5/8” Screws, 3/4” Screws, 1-1/2” Finish Nails

7 9 9 11 11 13

Number
of Wall
Panels
& Sills

10' Gazebo
Round Oval

12' Gazebo
Round Oval

14' Gazebo
Round Oval



2 Screen Kit

Remove Sill Plates
1-A:  Remove 2-1/2” Screws
and Sill Plate from your
Gazebo.   If not installed,
continue with step 1-B. Remove 2-1/2"

Screws and
Sill Plate

Install Screen Panels
1-C: Center Screen Panels with
molding side towards outside.  Attach
with (10) 1-5/8” screws through
predrilled holes. Assemble remaining
Screens Panels in the same manor.

1-5/8"
Screws

1-5/8"
Screws

Install 
Sill with

1-1/2" Finish Nails

Install New Sill
1-B:  Install  3/4”x1-1/2”x39-1/4”
sill and attach with (4) 1-1/2”
finish nails.

 1-A

 1-B

 1-C



3Screen Kit

Tension Rod

Tension HoleFIG. 1 FIG. 2
Tension Pin

2" Screw

1-5/8"
Screws

2" Screw

2" Screw

 1-D

Tension
Collar

7-1/2"

7-1/2"

3/4"
Screw

3/4"
Screw

2" Screw
Installed

when door
Is in place

3/4"
Screw

1/4"

Maintain
1/16"
Gap

Hinge Board
1"x1-1/2"x80"

1-D:  Position Door and Hinge Board on
a flat surface as shown.  Maintain 1/16”
gap between door and hinge board,
hinge board should overhang bottom of
door 1/4”.  Center hinge over gap and
place 7-1/2” from end as shown.  Place
and center hinge in center of door.
Fasten hinges to door and hinge board
with (5) 3/4” screws.  Leave center hole
on hinge board open for mounting on
Gazebo.

1-F: Door mounts on outside of Gazebo only!

Position door to opening and align to 5/8” mark.
Maintain 1/4” gap at bottom of door.  Fasten
hinge board with 1-5/8” screws through
predrilled holes.  Check door operation.  Install
2" Long Screws through hinge into gazebo.

 If more tension is needed, use the tension rod
and place in tension hole as in Fig. 1. Rotate
around the tension collar.  Pull pin and place in
next hole as in Fig. 2.  Continue until door will
close against gazebo.

 1-E

1-E:  Place a 5/8” mark on the Gazebo as
shown.

 1-F

5/8"
Mark



4 Screen Kit

Inside Door

Inside Door

Door
Edge

Outside
Door

Inside
Door

Top ViewTop View

1 2

4 5 6

3

Inside
WallInside

Wall

Outside
Door

Gazebo
Wall

Edge

Door

Wall

Top View

Template
Inside

Approx. 13/16"
hole placement

13/16"

When Drilling,
hold a small block

on outside to
keep door from

splitting

Place latch in place
and mark

36"

1.  With door in closed position, fold and place template on door at desired height (approx. 36”) against inside face of door.  Mark position of the three
holes.  2. Using a 5/16" drill bit, bore the three holes straight through the face of the door.  Place a block on the outside when drilling to help keep door
from splitting. NOTE:  Check freedom of motion of spindle, it should rotate freely in hole.  Reaming of hole may be required if spindle is binding.  Spindle
must be free.
3. Insert spindle from outside.
4. Install latch handle from inside by pushing spindle through center hole to engage square opening in outside knob assembly.  Insert latch screws and
draw up firmly.
5. Find location of strike plate and place a mark.
6. Install strike plate on wall edge so that it firmly engages latch.

Installation Instructions For Door Handle

5 /
16

”

Place this part of template against door

Fold along dotted Line.

   
13

/1
6”

   
 3

6”
F

ro
m

B
ot

to
m

of
 D

oo
r

5 /
16

”

5 /
16

”

Caution: Locate installation so that latch will not hit entrance lock.

In
si

de
D

oo
r

Template


